2

T A R

1 sERecz0m ZXORBEERNT, ROFEXERELI0,

(1) x—3=5 [12) x+4=8 3) x—1=—6

( ) ( ) ( )
(4) 74+x2=0 I5) x—6=-—5 [J6) —14+x=9

( ) ( ) ( )
[(7) 2x=-—38 [18) 3zx=12 [I9) —bx=-—15

( ) ( ) ( )
(1) 4xr=24 () —8x=16 (112 7x=35

( ) ( ) ( )
09 5-=5 04 5=—6 [y —-E=4

2 3 5
( ) ( ) ( )

2| BEEAVESEROBE) ROBEIEBEEE,

1) 2r=5+x [12) 5r=4xr—1 3) —x=4—2x

( ) ( ) ( )
[(J4) 3z—1=5 [X5) 2x+7=-—3 [l6) 5x—4=6

( ) ( ) ( )
(A7) 7—2x=1 CI8) —x+4=10 [(19) 5xr=8+x

( ) ( ) ( ]
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Clao)

a3

(Clae)

[Jo)

[103)

2r—1=x+4

xr—8=bx+4

¢

(b > Z &K BHEXDOEFL)

2(x—3)=4

(

3(x+2)—7=8

(

z+3(xr—1)=9

(

5r—(2xr—1)=10

(

3(2z+1)—x=13

Jay

004

0an

ROFEXEBRELE,

LK2)

L

a4

S5r+2=3x—4

4r—1=—z+9

(

6—x=4r—14

(

3(2z+5)=9

4(x—3)="x

(

4(x+1)—7=3x

(

rz+1=5(x—3)

(

2(xr—4)—3x=1

(02 z—8=3x+6

Cas)

(Jas)

w2

(as)

( )
Tr+2=10+3x

( J
8r—3=7—-2x

( )

5x—(3z—7)=1

( )
2(x—38)+1=5

( ]
2(x—5)=Tr

( )

4(x—2)=5x+1

( J

5(x+3)—2=2r+1

( )
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